COMPONENTS

HH

g_—-

tek

Waterproof Connector Series



Mtek About Us

A100 TECHNOLOGY CORP.

Capability

Previously known as a design company of Auto-tech since 2003, A100tek has derived from
several highly acclaimed professionals in the industry. In order to take our services and
solutions up another notch, we have combined capable partners in the field, thus the birth of
A100tek.

Headquarter based in Taiwan, and with research and development centers in the USA and
Japan, our manufacturing facilities in China, with strict quality assurance systems.

We define ourselves as product design solution provider in the market. Customer satisfaction
and fulfillment of their technological needs are achieved through series of interactions with our
clients. Our designs evolve with our innovations to continuously improve and create products
that the market yearns for.

A100tek is well rounded in every aspect, providing complete solution all in one stop. We
continues to strive with our dedicated professionalism, endlessly seeking to be ahead of the
game, to be in the front line of the industry trend. We are not pursuing to be the number one in
the word, but to be the unique provider in the industry.

We define ourselves as product design solution provider in the market. Customer satis-
faction and fulfillment of their technological needs are achieved through series of inter-
actions with our clients, and through our expertise in leading connectors technology.
Not only we are capable of satisfying all our clients' current product demands, we are
also able to add value to their current products. Our designs evolve with our innova-

tions to continuously improve and

Engineering Analysis

create products that the market yearns for.

Our RD centers are able to perform a wide variety of testing. From simulation model, mold flow analysis, to stress analysis,
we have them all. Not to mention high frequency analysis for newest products in the industry, with smith chart and TDR
impedance test, you are in control of the product specification. Our testing laboratory is also capable to assist you with certifi-
cations or qualification assessments.

328
164
o0

Facilities

Our facility in Shanghai and Shenzhen of China is capable of producing moldings, stampings and assemblies from big to small
projects. We have all the machinery required to produce mini wire to board connectors all the way to large cable assembly.

We also have complete testing laboratory to ensure all our products are made according to regulations and specifications

. COMPONENTS
Vertrieb Deutschland H&H Components GmbH _
AmmerseestraBe 61A ¢ D-82061 Neuried
Tel.: +49(0)89/244 10 04-0 » Fax: +49(0)89/244 10 04-29

office@2h-components.de ® www.2h-components.de




M5

M9

M12

M13

M16

M23

USB

RJ45

BNC

SNAP IN




COMPONENTS

HH

M5 - Cable End - Male - Screw - Overmolded Straight Solder

D
sl
: ciil.ﬁ
Specification :
® Rated current : 1A _
® Rated Voltage : 60V p° g 3 g
® Water proof : IPX7 - '
\ Y\ M05-001N
M5 - Cable End - Male - Screw -
Overmolded Straight Solder - Ground
.
15.85 '
et Vj ] NUT
: AEd sy [l
EL__ E= ke fg]lllllllllllrz’ CONTA

Specification :
® Rated current : 1A a2 S
® Rated Voltage : 60V o0

® Water proof : IPX7

\ V- M05-002N

N




COMPONENTS

HH

M5 - Cable End - Female - Screw - Overmolded Straight Solder

N
30 G0 , —
- o ‘ g {n\
f If K]
i)
Eu]% R
| T O-RING
: S i
A
T4l
Specification :
® Rated current : 1A
® Rated Voltage : 60V
® Water proof : IPX7
V\™ M05-005N
M5 - Cable End - Female - Screw -
Overmolded Straight Solder - Ground
N
130 | WE#0.5

1.0

6.0 ‘

. mT7 Eﬂ NUT
@z O-RING
L___ HOUSING
SHELL

CONTACT

Specification :

® Rated current : 1A
® Rated Voltage : 60V
® Water proof : IPX7

‘Ei!'I
o
00
oG

™ M05-006N

N




COMPONENTS

HH

M5 - Panel End - Male - Screw * Front Fastened 180° PCB

N
7.00 1i.au i
/’ \\ 2
L |
g | ﬁ% - '
0| O+ o E -
¥ \ &EE:’/. 2 = DL
120" s U U
500550

Specification :
® Rated current : 1A N
® Rated Voltage : 60V

® Water proof : IPX7

RECAMMFNNDANFT CHT-nlm

- M05-003N

M5 - Panel End - Male + Screw * Front Fastened 90° PCB

Q’o' .2 EL_%
- L 9:%

T
L

—i0, 50—|

Specification :

® Rated current : 1A
® Rated Voltage : 60V
® Water proof : IPX7

V- M05-004N

N




COMPONENTS

HH M5

M5 - Panel End - Female - Screw - Front Fastened 180° PCB
.

1160565

@QQ

9.50

Specification :

® Rated current : 1A
® Rated Voltage : 60V
® Water proof : IPX7 olo

RECOMMENDEANEL CUT—0UT

™ M05-007N

M5 - Panel End - Female - Screw * Front Fastened 90° PCB

L=y
Q& 1.20 a
T &
| o ‘
Ea: w9
z
i 7.2
P.CEB LAYOUT
3.1@
L4120 0.1

+0,
16,90 7.20-0

Specification : il DOWN HOUSING PANEL CUT-0OUT

® Rated current : 1A ) i |
® Rated Voltage : 60V X . %——'ﬂ'\
® Water proof : IPX7 . . 'W//ﬂ%‘r ;

V\ M05-008N

N




DESIGN

M5 - Accessories * Cap(Metal) w/O-ring, Chain(Plastic)
N

‘// 150(RFF) .

8.50

20.0

M3*0.5

% | —

5.0

\ ™ M05-097N




DESIGN

M8 - Cable End - Male - Screw - Overmolded Straight Solder

N g
2100930
1.1
1.2 oy
iy,

|

TP 3 &
S |
€ SECTION A—A

Specification :

® Rated current : 3A Co
® Rated Voltage : 125V &9

® Water proof : IPX7

V\» M08-009N

M8 - Cable End - Male + Screw * Overmolded Straight Solder
N

26,1
236

46,20
[\
|
[ W
| M0

faaN
7/
=
2/

Specification : O
® Rated current : 3A - %}j 4 -
® Rated Voltage : 125V \r/

® Water proof : IPX7

V\ M08-010N

N




COMPONENTS

HH

M8 - Cable End - Male - Screw - Overmolded Straight Solder

Specification :

® Rated current : 3A

® Rated Voltage : 125V
® Water proof : IPX7

21.80%80

MEH.0

#6.20

Wl

)

[T——SHELL
HOUSTNG

13.40

CONTACT

J\» M08-011N

M8 - Cable End - Male - Screw - Overmolded Straight Solder

Specification :

® Rated current : 5A

® Rated Voltage : 125V
® Water proof : IPX7

6.7

12.5

a10.0

| ME¥1LO

1.6

e

5.0

1.38

i
%

i

~—HOUEING

H_| _r/—CEINTACT

1.1

V\» M08-017N

N




COMPONENTS

HH M8

M8 - Cable End - Female - Screw - Overmolded Straight Solder
N

.20
1870452
CUSIN HUT

10.9

3 3 (.'.7 ..
N |

88 |“—mE*1.0 3.3 SECTION A4 O—RING

Specification :

® Rated current : 5A

® Rated Voltage : 125V
® Water proof : IPX7

o)
(@] @)
9
©p
o©

Q O

Y\ M08-018N
M8 - Cable End - Female - Screw -
Overmolded Straight Solder - Ground
N
18.70
£.80 SHELL HOUSING
/7 CONTACT
o0 2 E= SL e
= = 2 =y
i ] N
2.00 GROUND

O—RING

Specification | % 150

. ] B3

® Rated current : 5A — Q-H»@ — — @9 _ @
o . _

® Rated Voltage : 125V | |
® Water proof : IPX7

V\ M08-019N

N




DESIGN

M8 - Cable End - Female - Screw - Overmolded Straight Solder

18,3438 ‘
75
- NUT
B /<| HOUSING
[ 0-RING
N CONTACT
.o i B
Specification :
® Rated current : 3A ©©© 0 O
® Rated Voltage : 125V ©@© ©@©
® Water proof : IPX7
/\™ MO08-020N
M8 - Panel End - Male - Screw * Rear Fastened Solder
N
20,80
= Wv%o% | CONTACT
= ~ HOUSING
@ SHELL
1060 O-RIMNG
V NUT
(e £ \\ | |
Specification :
® Rated current : 5A
® Rated Voltage : 125V
® Water proof : IPX7
RECOMMENDEANE! CUT—OUT
J\™ M08-015N

d



DESIGN

M8 - Panel End - Male - Screw - Rear Fastened 180° PCB
.

20.80

CONTACT
HOUSING
SHELL
U-RING
NUT

il

I
L
u:T
AT

N\)\\l\\l\\\l\\\\!\\\ — =
L

17.80 S.E‘ﬂfgjé

ha+i .
.

@
:

Specification :
1. Rated current : 3A
2. Rated Voltage : 125V

an
N,

3. Water proof : IPX7 @} @@ @%

RECOMMENDPANEL cuT-our  Recommend P.CE Layout.

\™ M08-016N

M8 - Panel End + Male + Screw * Front Fastened Solder

H
134
L [

/ .
@ 20 ,;,7//////// 4

Pz ST =
U ﬁ
CONTACT

SECTION A4

NUT SHELL B

0 —RING
Specification : %
® Rated current : 5A G Na\ BN EN E
TG TS| Lesiin
® Rated Voltage : 125V g

® Water proof : IPX7

v\ M08-012N




COMPONENTS

HH

M8 - Panel End - Male - Screw * Front Fastened Solder

N g
o LO0
11.50 A 2‘ _
=) CONTACT
N SHEL L
g @:ﬁ) = S EH;ING
= & 2 o EPOXY
Zn
8.00 Sl
|
Specification : m
® Rated current : 5A !
|
® Rated Voltage : 125V \‘/
® Water proof : IPX7 RECOMMENDPANEL CUT—0UT
\™ M08-013N
M8 - Panel End - Male - Screw * Front Fastened 180° PCB
N g
e 81.00%4 E‘
] 71.15 o A ‘ ‘ |
s V)N s — S
E &y g g - —RING
4,70 :5 ?F&\S\HOUSJNG
\~—|—CONTACT
20.50%4 |

68.008 10

|
Specification : | i

|
| 20800, i
® Rated current : 5A (7S m W‘“"
N
| .

)

&

AN
%
9

® Rated Voltage : 125V i %ﬂ 5?3@ :
® Water proof : IPX7 |
|

RECOMMEND PANEL CUT-CUT RECOMMEND PCB LAYOUT

\~ M08-014N

N




COMPONENTS

HH

DESIGN

M8 - Panel End - Female - Screw * Rear Fastened Solder

N

Specification :

® Rated current : 5A

® Rated Voltage : 125V
® Water proof : IPX7

219408

2.0

W8+ 5

W

18.440.10

70

9.5

LHOUSENG

1.3

|
RECOMMEMDPANEL CUT-0UT

/\™ M08-023N

M8 - Panel End - Female - Screw * Rear Fastened Solder
G T~ SHELL

?g%ﬂ S CONTACT

f\_ _HOUSING

p S O-RING A
NUT

~RING B

Specification :

® Rated current : 5A

® Rated Voltage : 125V
® Water proof : IPX7

EECOMMENDEA

L CUT-0ut

V\ M08-024N

N




COMPONENTS

HH

M8 - Panel End - Female - Screw - Front Fastened Solder

N
18,3002 _ Ma*1.0
15.5 =
. = SHELL
] O-RING-A
= NUT
o - O0-RING-B
X — 2 HOUSING
= R N T———EPOXY
CONTACT
=
11.20
Specification : /
® Rated current : 5A 2
® Rated Voltage : 125V C’(C} d{? (fiﬁj} o
® Water proof : IPX7 \/ K/ K/ K
PANEL CUT-OUT
™ M08-021N

M8 - Panel End - Female - Screw * Front Fastened 180° PCB

[ ==

’ |
J \
HOUSING CONTACT

O—FRWG A NUT G-RIMG B SHELL

11.20£0.20 2.48 .
ol
Specification : NS / . A
® Rated current : 5A TN RIS, e o
QRN I = -
® Rated Voltage : 125V NN \ 5 3
® Water proof : IPX7 PANEL CUT=0UT  RECOMMENDED P.C.EB LAYOLT

v\ M08-022N

N




COMPONENTS

HH

[ |
DESIGN

M8 - Accessories *+ Cap(Metal) w/O-ring

5.00 _ 425 1.70

10.00

MEx1.0
T

V\@ M08-098N

M8 - Accessories * Cap(Plastic) w/O-ring

2.00

£.5510.05

V\ M08-099N

N




DESIGN

M8 - Accessories * Cap(Metal) w/O-ring, Chain(Metal)

50mm{REF.)

10.0C

\ V\ MO8-100N




COMPONENTS

HH MO

M9 - Cable End - Male - Screw - Overmolded Straight Solder

M3*1.0

22,8054
21500818

e TR
RN 2

10.50
720
8.00

N

0.54

Lo

oy

4.50

b

Specification :

® Rated current : 5A @% C
® Rated Voltage : 125V : N

® Water proof : IPX7

7D
@

()

K
K

v\ M09-025N

M9 - Cable End - Female - Screw - Overmolded Straight Solder
N

19.820.1
17.840.1 )
15.3 :
; NUT
! h | 0-RING
— 22 Ero | HOUSING
o = = H-{ et
< T ‘ S & CONTACT
— KEPDXY

Specification :

® Rated current : 5A

® Rated Voltage : 125V
® Water proof : IPX7

.

v\ M09-028N

N




COMPONENTS

HH

M9 - Panel End - Male + Screw - Rear Fastened Solder
.

4.8
228
213 206
— 085 P OUSING
I 1
— [H ' SHELL
= ] | = ¢ : /O—RWG
| —e R Y
%m L —% = i NUT
U ANNG | -
I \/E I
1g.212.20) ' - %

:?f/c ONTACT
i iy
i~

E

Specification :

® Rated current : 5A

® Rated Voltage : 125V
® Water proof : IPX7

[
/ i
|._10.00+0.20

PANEL CUT-0UT

V\» M09-027N

M9 - Panel End - Male + Screw * Front Fastened 180° PCB
>

12.00

Specification :
® Rated current : 3A

® Rated Voltage : 125V
® Water proof : IPX7 PANEL CUT-OUT RECONMEND P.C.B LAYAUT

Y\ M09-026N

N




COMPONENTS

HH

M9 - Panel End - Female - Screw * Rear Fastened Solder

142

1.75
(.54
\_’
12.0
8i0.0
:
T [&4]
[
]
] ‘H
M10%1.0

1.0 ASSEMBLY
m““'gg
Specification :
® Rated current : 5A /u\ '
® Rated Voltage : 125V %ﬁ @%
® Water proof : IPX7 EANEL CUT—0UT

v\ M09-030N

M9 - Panel End - Female - Screw * Front Fastened Solder
N

MI*1.0
178504 HOUSING
17.00 160 /N SHELL
05 | 230
: NUT
W O-RING-A
- || O-RING-E
o | : | g, L % g EPOXY
b A 3 5 CONTACT

Specification :

® Rated current : 5A

® Rated Voltage : 125V _
® Water proof : IPX7 PANEL CUT—0UT

12.0040.2

V\ M09-029N

N




COMPONENTS

HH

M12 - Cable End - Male - Screw - Overmolded Straight Solder

N
I —
246
5.0
O-RING
0. NUT
u S T HOUSING
B CONTACT
[
EPOXY
U //
Specification :
® Rated current : 5A @% @}?Q @I[
® Rated Voltage : 125V NN
® Water proof : IPX7
Y\ M12-031N

M12 - Cable End - Male - Screw - Overmolded Straight Solder

/ HOUSING

EPGXY
CONTACT

Specification :

® Rated current : 5A

® Rated Voltage : 125V
® Water proof : IPX7

Y\ M12-032N

N




COMPONENTS

HH M12

M12 - Cable End - Male - Screw - Overmolded Straight Solder
N

Q)E;E)
2

Specification :

® Rated current : 1A
® Rated Voltage : 30V
® Water proof : IPX7

Y\~ M12-033N
M12 - Cable End - Male * Screw -
Overmolded Straight Solder - Ground
N
| %z = NUT
258 S [ P 0-RING
T ET %%j U Bs Y —HOUING
] B - SHELL
‘ N J—LJ—E/_CDNTACT
0 v 0 7 f
Specification : + + A O@O L)L
® Rated current : 5A 0 @ A cye
® Rated Voltage : 125V
® Water proof : IPX7

v\ M12-034N

N




COMPONENTS

HH

DESIGN

M12 - Cable End - Male - Screw - Overmolded Straight Solder

N -
25.0 85
228 0.8
1.0 & NUT
] A O-RING
= = || = HOUSING
A= E i SHELL
= m EPOXY
| @ / CONTACT
[y
Specification : G
: oo o [17
® Rated current : 5A 00
o]
® Rated Voltage : 125V
® Water proof : IPX7
V\» M12-035N

M12 - Cable End - Male * Screw -
Overmolded Straight Solder - Ground

10.0

14.5
M1241.0

#6.9
Py

Specification :

® Rated current : 1A
® Rated Voltage : 30V
® Water proof : IPX7

v\ M12-036N

N




COMPONENTS

HH M12

M12 - Cable End - Male - Screw - Overmolded Straight Solder

N
26,1705 e0a #{1.5
23.7
5.0 AN r\t
| 5 BN O-RING
EN. NUT
- HOUSING
CONTACT
§ % -~ EPOXY
Specification : SnE
® Rated current : 8A+3A
® Rated Voltage : 125V
® Water proof : IPX7
J\» M12-038N

M12 - Cable End - Male - Screw -

Overmolded Straight Solder - B Code
N

MLIT
HOUSING

| _I_L/ FCONTACT

Specification :

® Rated current : 5A

® Rated Voltage : 125V
® Water proof : IPX7

Y\ M12-064N

N




COMPONENTS

HH

[ |
DESIGN

M12 - Cable End - Male - Screw -
Overmolded Straight Solder - D Code

24706508

127 M1241.0
;:IS'O o CONTACT
. <n H D-RING
B L SHELL
= <H H i HOUSING
Specification : T
® Rated current : 5A @ I
® Rated Voltage : 125V C\/O
® Water proof : IPX7
'\ M12-066N
M12 - Cable End - Male * Screw -
Overmolded Straight Solder - D Code Ground
N -
3.60 24.70
2.00 23.70
il E 10.70 NUT
== “ s 0-RING
N = A Os Y —HOUING
Q” = I 1 ——sHELL
§ i — ﬂ_‘ ,—UfCDNTACT

Specification : o o) o/ \o o/ \o
® Rated current : 5A ovs R es feas e o©o
® Rated Voltage : 125V
® Water proof : IPX7

Y\ M12-067N

N




COMPONENTS

M12 - Cable End - Male - Screw - Assembly Solder

W

Specification :

® Rated current : 5A

® Rated Voltage : 125V
® Water proof : IPX7

=
5%}
*

15.00

%

13.00
17.00

!
=
=

L

19.40

s
o
k.
)

@
@

o) \o
]
[eXLe]

M12 - Cable End - Male - Screw - Assembly Solder

HOUSING
NUT
SHELL
CONTACT

EPOXY

Main Body
RING

Glana
Gland Coge
Gland Nut

v\ M12-039N

W

Specification :

® Rated current : 5A

® Rated Voltage : 125V
® Water proof : IPX7

M12¥

1.0

15.00

3.00

i~
(o)
()

d

14.40

(=P

750

HOUSING
NUT
EPOXY
SHELL
CONTACT

Main Boody
RING

Gland
Gland Cage
Glond Nut

\@ M12-040N

N




COMPONENTS

HH

M12 - Cable End - Male - Screw - Assembly Solder - D Code

WM12%1.0 HOUSING
NUT

M EPOXY
SHELL
CONTACT

%
L
7N

Main Body
17.00 7.00 19.40 e
43.40 Gland

Gland Coge
Specification : Gland Nut
® Rated current : 5A RN/ 7o
® Rated Voltage : 125V Qy b 75
® Water proof : IPX7

Y\ M12-068N

M12 - Cable End - Female - Screw -
Overmolded Straight Solder

20,4087

Specification :

® Rated current : 5A

® Rated Voltage : 125V
® Water proof : IPX7

o\ M12-049N

N




COMPONENTS

HH

[ |
DESIGN

M12 - Cable End - Female - Screw -
Overmolded Straight Solder

20,30

(1]

9.4

WL
1470

Specification :
® Rated current : 5A Gie) oo 0 o C 0
s [} s} O g 0 o oo
® Rated Voltage : 125V 0,0 o 0 oo 0,252
® Water proof : IPX7
Vi M12-50N
M12 - Cable End - Female * Screw -
Overmolded Straight Solder
N g
0.70
246005
22,6024 | CONTACT
HOUSING
MNUT
o o O-RING

12.35
5.85
l— —
|

Specification :

® Rated current : 1A
® Rated Voltage : 30V
® Water proof : IPX7

V\~ M12-051N

N




COMPONENTS

HH

[ |
DESIGN

M12 - Cable End - Female - Screw -

Overmolded Straight Solder - Ground
N

25 O+D.2{J

-0.00 .
B 385 ‘
KO N e
}I O—fing
=
J L?I ’—! Mut
Shell
Pt e
o) Housing
10.6 o
- LJ /Contact
1T 1
Specification : 7|‘|_||‘|_|HJ’/
® Rated current : 5A @ @@ gg
® Rated Voltage : 125V
® Water proof : IPX7 oue olQ ©U©

- M12-052N

M12 - Cable End - Female * Screw -
Overmolded Straight Solder - Ground

26.1

14.5
14.0
M12x1.0

Specification :

® Rated current : 5A

® Rated Voltage : 125V
® Water proof : IPX7

v\ M12-053N

N




COMPONENTS

HH

[ |
DESIGN

M12 - Cable End - Female - Screw -
Overmolded Straight Solder - Ground

24.50537)

22,5052

1810

FAWEVANY
[ WAVAVAVAV

M12x1.0
8.20

9.58
14.70

Specification :

® Rated current : 1A
® Rated Voltage : 30V
® Water proof : IPX7

5.85

12.35

M12 - Cable End - Female * Screw -
Overmolded Straight Solder

- M12-054N

W

26,1457

14.7
Mi12x1.0

L

9.4

Specification :
® Rated current : 10A+3A

® Rated Voltage : 125V
® Water proof : IPX7

\_‘

V\~ M12-055N

N




COMPONENTS

HH

[ |
DESIGN

M12 - Cable End - Female - Screw -

Overmolded Straight Solder - B Code
N

20.40

Ll

a.40

360
7.10
M12x1.0
g
0
LL]T]
I
5.50

R
10.60
Specification :
® Rated current : 5A @Ic) ol o
® Rated Voltage : 125V oo ol[e

® Water proof : IPX7

v\ M12-065N

M12 - Cable End - Female * Screw -
Overmolded Straight Solder - D Code

25,0042 §: %
200 .
S O-RING
% NUT
: HOUSING

yCDNTACT
10.60 % féﬂ

1.50

Mi2x1.0
L
HhIC
14.70

Specification :

® Rated current : 5A

® Rated Voltage : 125V
® Water proof : IPX7

v\ M12-069N

N




COMPONENTS

HH

[ |
DESIGN

M12 - Cable End - Female - Screw -
Overmolded Straight Solder - D Code Ground

25,0445

10.6

Specification : / \ / \

® Rated current : 5A @G@ @%@ @
® Rated Voltage : 125V
® Water proof : IPX7

[_2;2_

E

i
&

9.9

0.6

ONTACT

i)

Y\ M12-070N
M12 - Cable End - Female - Screw + Assembly Solder
N g
B HOUSING
M1241.0 O0-RING—A
NUT
H EPOXY
2 SHELL
5 j CONTACT
Main Body
16.1C 700 18.40 0-RING-R
47 50 Glond
Gland Cage
Specification : - - - - Glane Nut
. © ENTEEN s
® Rated current : 5A ) CE)(E
® Rated Voltage : 125V 7.50
® Water proof : IPX7

W\ M12-056N

N




COMPONENTS

HH

M12 - Cable End - Female - Screw - Assembly Solder
N

M12¥1.0

0
| ]

- I

-]

16.2

O0-RING-B
Gland
Glond Coge
Gland Nut

e
2
[~

Specification :
® Rated current : 5A i
® Rated Voltage : 125V
® Water proof : IPX7

a1 ?Q
|
&
>
T
)

&

N
&
N
fg@[
N

\ @~ M12-057N

M12 - Cable End - Female - Screw - Assembly Solder

W

M12%1.0 HOUSING
O-RING—4
NUT
EPOXY

I SHELL

j CONTACT

Main Body
16.10 7.00 19.40 O-RING-B

Gland
o ) Glond Cage
Specification : Glond Nut

® Rated current : 5A
® Rated Voltage : 125V 7.50
® Water proof : IPX7

15.00

\ V\» M12-058N

N




COMPONENTS

HH M12

M12 - Cable End - Female - Screw - Assembly Solder - D Code
N

B HOUSING
M1241.0 O-RING=A

NUT
EPOXY
SHELL
CONTACT

Main Body
O-RING-B
42.50 Gland
Glond Coge
Glamd MNut

selley,
=1
ooy
15.00
JEN I
\

16.10 7.00 19.40

Specification : f@&
® Rated current : 5A &j
® Rated Voltage : 125V

® Water proof : IPX7

@~ M12-071N

M12 - Panel End - Male - Screw * Rear Fastened Solder

N g
%d
® Rated current : 5A

® Rated Voltage : 125V /

® Water proof : IPX7 PANEL CUT-OUT

[~
-

HOUSING
SHELL
O-RING
NUT
EPOXY
COMTACT

&

18.0

/)

Specification :

15.2040.20
%@?@W

Q
O
o o
[ o1
0
o
[
ik

V\e M12-046N

N




COMPONENTS

HH

M12 - Panel End - Male - Screw * Rear Fastened Solder

N ¢

180

Specification :

® Rated current : 5A

® Rated Voltage : 125V
® Water proof : IPX7

gl

o
o 4 fo!
o o)
o e

L PGG  CONTACT

/

HOUSING

N

15.20+0.20

\
J

PANEL CUT-OUT

- M12-047N

M12 - Panel End *- Male + Screw * Front Fastened Solder

Specification :

® Rated current : 5A

® Rated Voltage : 125V
® Water proof : IPX7

i _mﬂ
& U
Ll

PANEL CUT-0UT

™ M12-041N

N




COMPONENTS

HH

M12 - Panel End - Male - Screw * Front Fastened Solder

v
17.0
200, 1118
2.30 —
] ' 0 g — HOUSING
— =S SHELL
o E5 =2 A 7 NUT
o TEG R e H ‘ ‘ ‘ ‘ 0-RING
== l_w X 7 w %ﬁ — CONTACT
‘j a 'EP' & '
o4 : 11304010
Specification : \ =
® Rated current : 5A <
® Rated Voltage : 125V ~
® Water proof : IPX7 PANEL CUT—0UT
Y\ M12-042N

M12 - Panel End - Male - Screw * Front Fastened Solder
N

254

0 23.4
20.5

18.5

15.00
8.61
=
?@
S5
5
[ [1]
10.65

<
e
-3
H@
R
N
> 5,34
12410
1 |
LHU JJHr'

2.52 2.0 0.6
OUSTNG 12 OO*%:%%
f ONTACT

Specification : SHELL
® Rated current : 1A 3 r \
® Rated Voltage : 30V : a g NUT
® Water proof : IPX7 ‘ £

VZINIINIE 0-RING

Ak a E

! % RECOMMENDPANEL CUT=0UT

Y\ M12-043N

N




COMPONENTS

HH

M12 - Panel End - Male - Screw -+ Front Fastened Solder

055 AL ‘ LO
[ CONTACT
-50 HOUSING
SHELL
= [ O-RING &
: o = NUT
i e S P O-RING 1
. FLJ WM =7
A
his
fednis
20.5 mlln
iy Ml
Specification : 82
. J U J J t#‘
® Rated current : 5A AN YA -
® Rated Voltage : 125V o ol a"n
Water proof : IPX7
® P RECOMMENDPANEL CUT—0UT
\\@ M12-044N

M12 - Panel End + Male - Screw * Front Fastened Solder

26.7 0.8
5.7 08 &
I ey CONTACT
N 4 HOUSING
WWH ]
= MNUT
6 === i § S O-RING
—~ =] =l I
—@ M “
L i 1l
= o = o
Specification : JSTON 7SN 755 s
® Rated current : 5A AR AT tcg
® Rated Voltage : 125V o
® Water proof : IPX7

RECOMMENDPANEL CUT-0UT

J\™ M12-045N

N




COMPONENTS

HH

M12 - Panel End - Male - Screw - Front Fastened Solder

D

17.0

1105759
120

20.5

@

Specification :

® Rated current : 10A
® Rated Voltage : 125V
® Water proof : IPX7

B
)

W12*1.0

21.820.10
A 1.5
|
SHELL
(M M HOUSING
o O-RING 4
- [
NUT
| |~ o 0-RING B
=
pt T
- _.-“\\\‘
2001 +0.20 B
11.301 %53

J

+0.
| 1200 550

PAMEL CUT-OUT

v\~ M12-048N

M12 - Panel End - Female - Screw * Rear Fastened Solder

17.0

18.0

(e
&Y

Specification :

® Rated current : 5A

® Rated Voltage : 125V
® Water proof : IPX7

213,40

SHELL—

0-RING A—@
5

O-RING B

Mi12¥1.0

NUT
HOUSING
EPOXY

i\ M12-062N

N




COMPONENTS

HH

DESIGN

M12 - Panel End - Female - Screw - Rear Fastened Solder

2615828
17.00 17 554070 HEINE————s={— T [ 1
/ T \ 1.53 SHEL——=]
i @Q 4 L
2\ \ep? I
\ / Pt
W10+ .0
Specification :
® Rated current : 5A OO o Oo © S Oo:: 3\
® Rated Voltage : 125V 06 Yo o Yo 50

® Water proof : IPX7

\™ M12-063N

M12 - Panel End - Female - Screw * Front Fastened Solder

N
+0.20
20.40°5'p5
— M12%1.0
Y ]
B — ﬁ HOUSING
[@( W o ] - ‘-Cj \SEE\_:G A
it 1 i O I L HUT
| \ ) | o 2 = —RING B
D _— EPGXY
L \—}\_J COMNTACT
. 3.00 \_ 1.45 T
Specification : . - MENZGE §
® Rated current : 5A (o) flan @) el Xam @ nl e (0) = =
=
® Rated Voltage : 125V y U olo/\olo =

® Water proof : IPX7

PANEL CUT-0OUT

v\ M12-059N

N




COMPONENTS

HH

M12

M12 - Panel End - Female - Screw * Front Fastened Solder

.

Specification :

® Rated current : 5A

® Rated Voltage : 125V
® Water proof : IPX7

_MIZFLO
" 26104070 £ 10 HOUSING e —
O—FING 1
i i
=k NUT
[y ot
ERS O-RING 2
|| SHELL\§
CONTACT
815,002
|
|
Ge) |
Do @ |
0,0 I

PANEL CUT-TUT

/\™ M12-060N

M12 - Panel End - Female - Screw - Front Fastened Solder

D

Specification :

® Rated current : 1A
® Rated Voltage : 30V
® Water proof : IPX7

248

22.6

20.8

184

Al

1350
FG3
i

+0.10
1530000

RECOMMENDPANEL CUT=CUT

V\» M12-061N

N




COMPONENTS

HH

DESIGN

M12 - Panel End - Female - Screw * Front Fastened 90° PCB

274488

o 219 fgf
- 6.5 ‘
. HOUSING
&
% W "/ %x SHELL
= O-RING &
= 14z 7 :
—T | | ] one O-RING B
J EPOXY
\, | \/ COMTACT
135 il

Specification :
® Rated current : 5A o o o ©
® Rated Voltage : 125V
® Water proof : IPX7

15.4

RECOMMENDPANEL CUT—0UT RECOMMENDG P.C.6 LAYOUT

\~ M12-072N

M12 - Accessories - Cap(Metal) w/O-ring
>

9.0

"3
)

7.5 4.25

3
8,75

MiZ2¥1. ¢
166
133
10

™ M12-101N

N




COMPONENTS

HH

[
.

M12 - Accessories - Cap(Plastic) w/O-ring
N

I

112.00
#1070

D

] i é

W

n
2.00
11.75
Y\ M12-102N
M12 - Accessories * Cap(Plastic) w/O-ring
N
8.0
75 M12*1.0
TV
M
% 0—RING

zSHELL

V- M12-103N




COMPONENTS

HH M12

M12 - Accessories - Cap(Plastic) w/O-ring, Chain(Plastic)
N

1367

—e| [N (¢ N
S KJ )]

O-RIMNG CH&IN
NAT L [T S (C [
7 )/ g
o Uu =]
2 =
|
Jf —
Miz#l.0
14,00

\ e M12-104N




COMPONENTS

HH M13

M13 - Cable End - Male - Screw - Overmolded Straight Solder

N g
-
.
/ 225
’ 19.4
S J e
~ 'ﬁ o=
Specification : \ T L 50
® Rated current : 10A + 3A ’
® Rated Voltage : 125V contract T,
® Water proof : IPX7
\ - M13-089N
M13 - Cable End - Female * Screw -
Overmolded Straight Solder
N 4
26.3
- 733
: oo| B _
=

CONTACT

Specification :

® Rated current : 10A + 3A
® Rated Voltage : 125V

® Water proof : IPx7

\ Y\ M13-091N

N




COMPONENTS

HH

[ |
DESIGN

M13 - Cable End - Female * Screw -
Overmolded Straight Solder

N
23.3 3.0 104
11.70 ®®ib
g
3 = 5 losoll :
T ] ©
1.5
Specification : /
® Rated current : 9A + 3A NOT ocRNG  modsine  contace
® Rated Voltage : 125V
® Water proof : IPX7
v\~ M13-092N
M13 - Panel End - Male - Screw - Rear Fastened Solder
N g
225
8.8 19.4
5.0 2.0
|
= o @
] O - i
s L — o
= Sl =
Specification : ?
® Rated current : 9A + 3A ' |
® Rated Voltage : 125V ‘ ] os
® Water proof : IPX7 HOUSING ‘ CONTACT

v\ M13-090N

N




COMPONENTS

HH

M16 - Cable End - Male - Screw - Assembly Solder

REF 556
&
I LAND NUT
>< GLAND CAGE
CLAND
E CLAMPS
= BACK BOOY
SCREW
LAMES BGOY
—RING
ISGLATION
SPRING
HOUSING
LOCK SHELL
WA Sooy
Specification :
® Rated current : 5A
® Rated Voltage : 250V
® Water proof : IPX7
i\ M16-095N

M16 - Cable End - Female * Screw -
Overmolded Straight Solder

11.10 2.50

s
<))

)

i

13.90
18.00

M16%0,75
@]
e

10.45

20.80
21.10

Specification :

® Rated current : 10A+1A

® Rated Voltage :
250V+125V

® Water proof : IPX7

v\~ M16-094N

N




COMPONENTS

HH

M16 - Cable End - Female *+ Screw - Assembly Solder
N

REF 56.2

18.2

M16*0.75

= QCK SHELL
OUSING

O—RING 2

Specification :

® Rated current : 5A

® Rated Voltage : 250V
® Water proof : IPX7

V\@ M16-096N

M16 - Panel End - Male - Screw - Front Fastened 180° PCB
N

20.0 287
17.0

270

17.0
M16%0.75
5

26,0
S

o2 (D)
OLIKICs
]
U 1.50

1.30
.80

210 - .00
850 500

11.00

N

7.54
4.57

#5.20
]
&S
22,80

CONTACT -

in
(=

o
o
Q
a, .
2
7.97
483
1.96
\J\) O
'9) Oj
1.75
263

=]
12.28

Talata |y oy el

Specification :

® Rated current : 10A+1A

® Rated Voltage :
250V+125V SHELL

® Water proof : IPX7

HOUSING

oyl
=)
o

=|
o

4.02

6.58

RECOMMEND F.C.B LAYOUT

V\™ M16-093N

N




COMPONENTS

M23 - Cable End - Male - Screw - Assembly Solder
N

SWI&O—\
0o =
o ¥
0 9 %
L0y
44 .0 o
k=1
78.0(REF)

cl@
oo

Specification : - - - -
® Rated current : 20A © © g

© ©
® Rated Voltage : 250V
® Water proof : IPX7

V\» M23-075N
M23 - Cable End - Female * Screw - Assembly Solder
N 4
swigo— o0
. i —HOUSING
mEEEEA e
m SPRING T
D ]
aH | 1ot
|| | POXY
—RING-C
44.0 S a0
76.9(REF)
LAND
Specification : CAND CAGE
® Rated current : 20A © 00 00 O U5
® Rated Voltage : 250V o 0 9 9190
® Water proof : IPX7

v\~ M23-079N

N




COMPONENTS

HH

M23 - Panel End - Female - Screw - Front Fastened 180° PCB
.

3170088 23410 7

26.2 2.6 = O-RING-A
10.0 M :—/HI]USING
0-RING-R

s zﬁ/y{u
— /CDNTACT

— NUT

— 7 1 O-RING-C

FPOXY

U UU 251
Specification : % .
,;_,,,, g

® Rated current:5A | ¥
® Rated Voltage : 125V .
® Water proof : IPX7

SO0 iz 10.1
250

25,0

M2E*].0

&

=
o
I

7.87

(@)
RECCMMEND P.CE LAYOUT  RpOMMENDRANEL CUT-0UT

©
=
[,
00
(s]e)
oo
00
00
Y

Y\ M23-078N

7/8-16UN-2A - Cable End - Male -
Screw - Overmolded Straight Solder
N

25.45

CONTACT-B

CONTACT-A

Specification :

® Rated current : 20A
® Rated Voltage : 125V
® Water proof : IPX7

V\~ M23-073N

N




COMPONENTS

HH

[ |
DESIGN

7/8-16UN-2A - Cable End + Female * Screw -
Overmolded Straight Solder

30.17928

16.5

25.45
gl
|
v
=
7/8"="1BUNF

-
11.30

Specification : ®)

® Rated current : 20A © ©

® Rated Voltage : 125V © ©/)\0 O

® Water proof : IPX7 ] ]

V\ M23-076N

7/8-16UN-2A - Panel End - Male -
Screw * Front Fastened 180° PCB

34.440.10 2.0

. 50 a3 =
s g

NN SHELL
o ] OUSING
’_\\\ \ I — o & — O-RING
795 e CONTACT
. p——— uT
% EPOXY
B LONG PIN .

Specification : ®

@® Rated current : 20A © O\/o¥0

® Rated Voltage : 125V © 0o ©
- -

® Water proof : IPX7 RECOMMEMD P.C. LAYOUT

24.0

7/~ 16UN2A
Pql1{18.60)

5.54

e @
)
-

| ‘@E

o
It

v\ M23-074N

N




COMPONENTS

HH

[ |
DESIGN

7/8-16UN-2A - Panel End - Female -
Screw * Rear Fastened 180° PCB

N g
&1 19.30 7/8"— 16LNE
] [ = [ =
o] iy N - NN HOUSING
39 @U e = < "~ BUCKLE
: Gk DAl BN
X ©0 =&
et - * E_(L O-RING
% EPOXY
10.80 390 CONTACT
a0 1980050 ﬁp W
10
D
Specification : O o) / y
® Rated current : 20A O ONBYo J
® Rated Voltage : 250V @@ ©© @@
® Water proof : IPX7 CANEL T ouT

i\~ M23-077N

M23 - Accessories - Cap(Metal) w/O-ring

16.6

1240

. M23*1.0
H
é -]
#25.0

j
N
S

v\ M23-105N

N




COMPONENTS

HH

[ |
DESIGN

M23 - Accessories - Cap(Metal) w/O-ring

SHELL O=RIMNG

— "

o

#26.0

b2 3% 1.0

\ V- M23-106N




COMPONENTS

HH

[ |
DESIGN

Mini USB - Cable End - Male -
Screw - Overmolded Straight Solder

N

PIN 1

FIN &

Specification :

® Rated current :
1A AT 250V AC

® Contact resistance :
50MQ OHM MAX.

® Insulation resistance :
100MQ OHMMIN

HOUSING

o
@

0

CONTACT  SHELL DOWN ﬂﬂt up

ITaa]] |

RECOMMENED ASSEMBLY

@om

1.00

0.30

NUT

0.80
5,50

8.80

10.40
8.80
7.50

9

Y

B

INTERNAL MODEL SIZE SUGGESTED THAT FIGURE

® Water proof : IPX7 /\» USB-080N
Mini USB - Panel End - Female -
Screw * Front Fastened Solder
N g
13.50
- 11.50
E MUT —RING
ann SHELL—\ § DUMENON NUT
‘ I ATCH
)
i
HOUSTNG—"]
— CONTACT
M?Zlf J’O 0 12200575
o 7.5(;_ 400 2.00 !
Specification : PIN 1 —PIN S T . i
® Rated current : } —W =5 _ i )
1A AT 250V AC /ﬁ\ | B T ¢ |
® Contact resistance : z L, - e ﬁ_ i
50MQ OHM MAX. \\\ j L |
® Insulation resistance : W PUT OUT
100MQ OHMMIN
V\~ USB-081N

® Water proof : IPX7

N




COMPONENTS

HH

[ |
DESIGN

USB A - Cable End - Male -

Bayonet - Overmolded Straight Solder
N

HOUSING

iy SOTTOM SHELL
ONTACT

2o @-%—O—RING
i LS—ToP SHELL

k[L'—EXTEMAL NUT

(——EXTEMAL HOUSING

V\ USB-082N

USB A - Panel End - Female -
Bayonet - Rear Fastened Solder

!
w
E
+

*

%]

XTEMAL HOUSING

34,00

~—24.60—
[
I
' \
e R
S
- ;
[Fa]
[wn)
=l
[
m
O
T E88L
oW Cc=m
=z L ui-
=
@3 g

PANEL CUT-0OUT

V\ USB-083N

N




COMPONENTS

HH USE

DESIGN

USB A - Accessories - Cap(Plastic) w/O-ring, Chain(Plastic)

11z

WasHER—"

V\» USB-107N




COMPONENTS

HH

[ |
DESIGN

HDMI A - Cable End - Male - Bayonet -
Overmolded Straight Solder
N

28.80

XTEMAL HOUSING

|
?//l////////////////////////////lll/////ﬂ Z BACK HOUSING
i \Z EXTEMAL NUT
7

Specification :
® Water proof : IPX7

L

19.40

O—RING

Zn
—
IIII , - -
[
2
7

B

N
A
H—HOUSING
i
o

V\ HDI-084N

HDMI A - Cable End - Female - Bayonet - Rear Fastened Solder
N

5.60 « EXTEMAL HOUSING

NUT

)=
]
/

BACK HOUTING

3
3400

00

(€

- HOUSING
;5%8 11.00 —— SECTION A=A
Specification : % %
® Water proof : IPX7 § \ /
@)
27.90
EANEL CUT-QUT

V\ HDI-085N

N




COMPONENTS

HH RI45

DESIGN

RJ45 - Panel End - Female - Screw * Rear Fastened Solder

>
223 12.0
_ S
J0 ] i} == iy ==
Lo =
o N% i if E / I WI \ \E .
& | ) b ORI, 1] NUT
Al 3 —j S e
] T NS o
— — 500 GROUN ONTACT
2.7 /\
Ponel Cut-0Out
V= RJ-086N

N




COMPONENTS

HH

[ |
DESIGN

BNC - Cable End - Male -

Bayonet - Overmolded Straight Solder
N

5.50
5.00

L]
N

7.80
10.67

£
= -
L ‘:ﬁi
SHELL A

i : \SHELL B
0-RING
= — SPRING
b = \ﬂ WASHER
1440 i x O-RING
el ¥ HOUSING
—L AFTER THE PLUG

H EPOXY

11.20

ol

75

2.10

4.00 6.40

Specification : » H, /552[562
® Rated Voltage : /

500 VRMS max.
® Impedance : 75 Ohm
® Water proof : IPX7

V\BNC-087N

BNC - Panel End - Female - Bayonet - Front Fastened Solder

I1.4

Fipoamll
e

\

PANEL CUT-0UT

CONTACT
U HOUSING

4.85
=

85

PG3

Specification :
® Rated Voltage :
500 VRMS max.
® Impedance : 75 Ohm
® Water proof : IPX7

15.20

\/\m BNC-088N

N




COMPONENTS

HH

BNC - Accessories - Cap(Metal)

13.00
6.80
1,40 !

Y

W i /SHELL

U /GASKET
P

14,30
13.30
1500
&
4 |J’§i

VATAN
k £=0.4
BRI

10.30

\ \wBNC-108N

N




HP:&_ZH SNAP IN

Mini Snap in - Cable End - Male - Overmolded Straight Solder
N

&
O
'

Specification :

® Rated current : 5A

® Rated Voltage : 300V
® Water proof: IPX5

J\~ WAP-02ES

Mini Snap in - Cable End -
Female - Overmolded Straight Solder
N

Specification :

® Rated current : 5A |
® Rated Voltage : 300V 7 @
|

® Water proof: IPX5

\ V\» WAP-02NS

N




DESIGN

Snap in - Cable End - Male - Overmolded Straight Solder
N

| |

25.00
A 1.2.30

TN

3
1831

k)
2
\\f, /

~s—"F""

Specification :

® Rated current : 20A
® Rated Voltage : 300V
® Water proof : IPX7

v\ AQ1-10K2

Snap in - Cable End - Female - Overmolded Straight Solder

25.00

~

N

o
2.30
2.30

ol o
3| &
M 0
30.00
31.00

Specification :

® Rated current : 20A
® Rated Voltage : 300V
® Water proof : IPX7

V\ AQ1-20K2

ﬂ



DESIGN

Snap in - Panel End - Female - Rear Fastened Solder
>

Specification :

® Rated current : 20A
® Rated Voltage : 300V
® Water proof : IPX7

Y\ AQ1-20K3




e ™ 2

hi" F :
INspire your passion
and happiness at worR!

. COMPONENTS
Vertrieb Deutschland H&H Components GmbH _
AmmerseestraBe 61A ¢ D-82061 Neuried
Tel.: +49(0)89/244 10 04-0 » Fax: +49(0)89/244 10 04-29

office@2h-components.de ® www.2h-components.de




